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#define FD 5

int main ()

{

int a[ 3+2],b[ 7+FD];

return 0;

}
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int main ()
{
int n=5;

int a[n];

return 0;

}
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for(i=0; i<10; i++)

printf("sd",alil);
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main () main()
{ {
int i,al10]; int i,al10];
for(i=0;1<=9;1i++) for(i=0;1<10;)
alil=1i; ali++]=1;
for(i=9;1i>=0; 1——) for(i=9;1i>=0;i--)
printf (" ', ali]y; printf ("sd", alil);
} }
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#include<stdio.h>
#define N 10 /x ESCHEE N */
int main()
{
int a[N], i; /% SCKBER N BB a x /
printf ("Enter %d numbers:",N);
for(i=0; i<N;i++)
scanf("%d", sali]); /x WEEEERA 10 N MR a % /
printf("In reverse order:");
for(i=N-1;i>=0;1i--)
printf (" Wl g /o W a PIS N ICE * /
printf("\n");
return 0;

}
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C language 75 65 63 87 77
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#include<stdio.h>
int main ()
{
int i,7,s=0,average, v[3],al5][3];
printf ("input score\n") ;
for(i=0;1<3;1i++) {
for(j=0;3<5;j++) {
scanf ("%d", ea[j][i]) ;
s=s+al31[il;
}
v[il=s/5;

s=0;



average= (v[ 0]+v[1]+v[2]) /3;

printf ("Math:%d\nC language: $d\nFoxPro:%d\n",v[ 0], v[1],v[2]);
printf ("total:%d\n", average);

return 0;

}
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int a[10]=1{0,1, 2, 3, 4};
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int a[10]=1;
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int a[5][3]={ {80, 75,92}, {61,65,71}, {59, 63,70}, {85,87,90}, {76, 77,85} };
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int a[5][3]={ 80, 75,92, 61, 65,71, 59, 63,70, 85,87, 90, 76, 77, 85};
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int a[31[3]={ {1}, {2}, {3}};
B —ATH S — P R AR EN T RZIR 0 H, MEFSITCENEN

100
200
300

X

int a [3][3]=({0,1}, {0,0,2}, {3}};
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int 3[3][3]= {1,2,3,4,5,6,7,8,9};
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int a|::||:3]={1/ 2,3,4,5,6,7,8,9};
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#include<stdio.h>
int main ()
{
int i, 3;
int a[5][3]={(80, 75,92}, {61, 65,71}, {59, 63,70}, {85,87,90}, {76,77,85}};
int b[5][3]=1{{1},{0,1},{0,0,1}};
for(i=0;i<5;i++)
{
for(3j=0;3<3;j++)

printf ("%4d", ali][5]+b[il[5]); / X VA BB IC R AR+ /
printf("\n"); / % PRAER A A T X« /

}

return 0;
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